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Pick the correct output signal and enter the number in the answer box:

Difference Equation, H(z), H(ei®), or h[n].

Output Signal

100z~ — 100
1,
1-3z71
with X[n] = u[n]

(b) yIn] = 1y[n — 1] + 100xn]
with x[n] = cos(0.25n)
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1. y[n] = 125¢c0s(0.257n — 0.3)
2. y[n] = 100(3)"*u[n — 1]

3. y[n] = 1008[n — 1] — 1008[n]
4. y[n] = —100(3)"u[n]

o

y[n] = 100(—%)"u[n]
6. y[n] = 125c0s(0.257n + 0.3)

(SOLUTION




Pick the correct cutput signal and enter the number in the answer box:

Difference Equation, H(z), H(e"*), or h[n].  Output Signal
8) H(z) = w 1. y[n] = 125cos(0.257n — 0.3)
with z[n] = u[,::’]z 2. yln] = 100(3)"uln — 1]
[ANS =4 | 3. y[n] = 100d[n ~ 1] ~ 1005[n]
Yi(z)=H@)X(2) 4. yln] = ~100(3)"uln]
= loo(z') 1 5. yln] = 100(—3)"u[n]
-2 - 6. y[n] = 125cos(0.257n + 0.3)
= =100
|-z

Tovedt  y[x]= =100 (3)uls]

(b) yln] = 3yln — 1] + 100z[n] 100
Z)=— —m
HE®= =i

with z[n] = cos(0.257n) )
|[ANS = | |
Ne.e.é. to evalvate Ha frebumj response
o O =o0.25T oo
H(e’”)l _L i
L% =0,25m 3€ o
_0.299 = 001"
= |25 &N =

y[n)= 125 cos(0-25™ =0-3)
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